

Page 1 of 24

Contract ID: 24151 Counties: ATLANTIC

Letting Date: October 31, 2024 District(s): S1

Call Order: 151 Project(s): D00S(931)

Contract Time: 05/17/26 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) SOUTH S	STATE, INC. (2) BERTO CONS INC.				
Alt Set /	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	1 : 0001	Roadway		Cat Alt	Set:	Cat A	It Member:	
0001	151006M	1.000	14,932.96000	14,932.96	34,000.00000	34,000.00		
PERFORI PAYMENT	MANCE BOND AND BOND	DOLL						
0003	153003P	(1)	45,000.00000	45,000.00	5,000.00000	5,000.00		
PROGRES	SS SCHEDULE	LS						
0004	153005M	8.000	600.00000	4,800.00	500.00000	4,000.00		
PROGRES	SS SCHEDULE UPD	ATE U						
0005	153011M	1,210.000	0.02000	24.20	0.01000	12.10		
TRAINEES	5	HOUR						
0006	154003P	(1)	395,000.00000	395,000.00	750,000.00000	750,000.00		
MOBILIZA	TION	LS						
0016	159003M	60.000	0.02000	1.20	0.01000	0.60		
BREAKAV	VAY BARRICADE	U						



Page 2 of 24

Contract ID: 24151 Counties: ATLANTIC

Letting Date: October 31, 2024 District(s): S1

Call Order: 151 Project(s): D00S(931)

Contract Time: 05/17/26 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) SOUTH S	TH STATE, INC. (2) BERTO CONST				
Alt Set	/ Alt Member C	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway		Cat Alt Set:			Cat Alt Member:			
0017	159006M	150.000	0.02000	3.00	0.01000	1.50		
DRUM		U						
0018	159009M	75.000	100.00000	7,500.00	0.01000	0.75		
TRAFFIC	CONE	U						
0019	159012M	1,622.000	10.00000	16,220.00	16.00000	25,952.00		
CONSTR	UCTION SIGNS	SF						
0020	159015M	4.000	1,000.00000	4,000.00	1,500.00000	6,000.00		
CONSTR SIGN, 4' X	UCTION IDENTIFICAT K 8'	TION U						
0021	159027M	4.000	100.00000	400.00	0.01000	0.04		
ARROW I	BOARD, 4' X 8'	U						



Page 3 of 24

Contract ID: 24151 Counties: ATLANTIC

Letting Date: October 31, 2024 District(s): S1

Call Order: 151 Project(s): D00S(931)

Contract Time: 05/17/26 COMPLETION DATE Min: Max:

	lo / Item ID rescription		(1) SOUTH S	TATE, INC.	(2) BERTO CON			
Alt Set	t / Alt Member C	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadwa		Roadway		Cat Alt	Set:	Cat A	It Member:	
0022	159030M	4.000	15,000.00000	60,000.00	0.01000	0.04		
PORTAB SIGN	BLE VARIABLE MESSA	GE U						
0023	159108M	4.000	5,000.00000	20,000.00	0.01000	0.04		
_	C CONTROL TRUCK W ED CRASH CUSHION	ITH U						
0024	159138M	20.000	100.00000	2,000.00	450.00000	9,000.00		
HMA PA	TCH	Т						
0025	159141M	1,000.000	0.02000	20.00	0.01000	10.00		
TRAFFIC	DIRECTOR, FLAGGE	R HOUR						
0026	159260M	4.000	800.00000	3,200.00	1,500.00000	6,000.00		
CONSTR SIGN, IIJ	RUCTION IDENTIFICAT IA 6' X 4'	TON U						



Page 4 of 24

Contract ID: 24151 Counties: ATLANTIC

Letting Date: October 31, 2024 District(s): S1

Call Order: 151 Project(s): D00S(931)

Contract Time: 05/17/26 COMPLETION DATE Min: Max:

Line No / Item Item Descripti			(1) SOUTH S	H STATE, INC. (2) BERTO CON INC				
Alt Set / Alt M	lember Qua	ntity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 00	001	Roadway		Cat Al	t Set:	Cat A	It Member:	
0027 15940	01M	(1)	5,000.00000	5,000.00	25,000.00000	25,000.00		
TEMPORARY PE ACCESS STAGI		LS						
0028 16100	03P	(1)	100.00000	100.00	25,000.00000	25,000.00		
FINAL CLEANUF	P	LS						
0029 20100	03P	(1)	50,000.00000	50,000.00	50,000.00000	50,000.00		
CLEARING SITE	≣	LS						
0030 20102	20M	1.000	500.00000	500.00	1,000.00000	1,000.00		
RESET MONITO	ORING WELL BOX	U						
0031 20200	06M	20.000	0.02000	0.40	500.00000	10,000.00		
EXCAVATION, T	TEST PIT	CY						
0032 20200	09P	110.000	150.00000	16,500.00	40.00000	4,400.00		
EXCAVATION, U	JNCLASSIFIED	CY						



Page 5 of 24

Contract ID: 24151 Counties: ATLANTIC

Letting Date: October 31, 2024 District(s): S1

Call Order: 151 Project(s): D00S(931)

Contract Time: 05/17/26 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) SOUTH S			NSTRUCTION, C.		
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	Roadway		Cat Alt	Set:	Cat A	It Member:	
0033 401021M	492.000	160.00000	78,720.00	150.00000	73,800.00		
HOT MIX ASPHALT PAVE REPAIR	MENT SY						
0034 405015P	80.000	225.00000	18,000.00	280.00000	22,400.00		
CONCRETE SURFACE CO	OURSE, SY						
0035 601122P	17.000	550.00000	9,350.00	450.00000	7,650.00		
15" REINFORCED CONCI PIPE	RETE LF						
0036 602009M	1.000	10,000.00000	10,000.00	9,000.00000	9,000.00		
INLET, TYPE A	U						
0037 602114M	1.000	1,000.00000	1,000.00	1,250.00000	1,250.00		
SET MANHOLE CASTING	U						



Page 6 of 24

Contract ID: 24151 Counties: ATLANTIC

Letting Date: October 31, 2024 District(s): S1

Call Order: 151 Project(s): D00S(931)

Contract Time: 05/17/26 COMPLETION DATE Min: Max:

Line No / It			(1) SOUTH S	TATE, INC.	(2) BERTO COI			
Alt Set / Al	lt Member Quant	ity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway		loadway		Cat Al	Set:	Cat A	It Member:	
0038 60	02123M	1.000	3,000.00000	3,000.00	2,300.00000	2,300.00		
	UCTED INLET, TYPE B, TING CASTING	U						
0039 60	02213M	1.000	800.00000	800.00	725.00000	725.00		
CURB PIECE	=	U						
0040 60	06012P	5,838.000	110.00000	642,180.00	175.00000	1,021,650.00		
CONCRETE	SIDEWALK, 4" THICK	SY						
0041 60	06013P	116.000	165.00000	19,140.00	240.00000	27,840.00		
TINTED CON THICK	NCRETE SIDEWALK, 4"	SY						
0042 60	06028P	246.000	198.00000	48,708.00	240.00000	59,040.00		
RESET PREC PAVERS	CAST CONCRETE	SY						



Page 7 of 24

Contract ID: 24151 Counties: ATLANTIC

Letting Date: October 31, 2024 District(s): S1

Call Order: 151 Project(s): D00S(931)

Contract Time: 05/17/26 COMPLETION DATE Min: Max:

	o / Item ID escription		(1) SOUTH S	TATE, INC.	(2) BERTO CON			
Alt Set	t / Alt Member Qua	antity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	Roadway		Cat Alt	Set:	Cat A	It Member:	
0043	606031P	14.000	195.00000	2,730.00	425.00000	5,950.00		
CONCRE HEIGHT	ETE PAVERS, VARIABLE	SY						
0044	606031P	7.000	195.00000	1,365.00	450.00000	3,150.00		
	ETE PAVERS, VARIABLE TRUNCATED DOME	SY						
0045	606039P	1,348.000	110.00000	148,280.00	155.00000	208,940.00		
HOT MIX THICK	(ASPHALT DRIVEWAY, 6	s" SY						
0046	606043P	9.000	135.00000	1,215.00	125.00000	1,125.00		
STONE (OR GRAVEL DRIVEWAY,	4" SY						
0047	606051P	362.000	140.00000	50,680.00	300.00000	108,600.00		
CONCRE	ETE DRIVEWAY, 6" THICI	K SY						



Page 8 of 24

Contract ID: 24151 Counties: ATLANTIC

Letting Date: October 31, 2024 District(s): S1

Call Order: 151 Project(s): D00S(931)

Contract Time: 05/17/26 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) SOUTH S	TATE, INC.	(2) BERTO COI			
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	Roadway		Cat Alt	t Set:	Cat A	It Member:	
0048 606057P	160.000	140.00000	22,400.00	315.00000	50,400.00		
CONCRETE DRIVEWAY, REINFORCED, 6" THICK							
0049 606075P	44.000	110.00000	4,840.00	210.00000	9,240.00		
CONCRETE ISLAND, 4"	THICK SY						
0050 606084P	107.000	1,500.00000	160,500.00	250.00000	26,750.00		
DETECTABLE WARNING	SURFACE SY						
0051 607018P	1,412.000	48.00000	67,776.00	130.00000	183,560.00		
9" X 16" CONCRETE VER CURB	RTICAL LF						
0052 607021P	906.000	48.00000	43,488.00	140.00000	126,840.00		
9" X 18" CONCRETE VER CURB	RTICAL LF						



Page 9 of 24

Contract ID: 24151 Counties: ATLANTIC

Letting Date: October 31, 2024 District(s): S1

Call Order: 151 Project(s): D00S(931)

Contract Time: 05/17/26 COMPLETION DATE Min: Max:

	o / Item ID escription		(1) SOUTH S	SOUTH STATE, INC. (2) BERTO CON				
Alt Set	/ Alt Member C	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway		Roadway		Cat Alt	Set:	Cat A	It Member:	
0053	610014M	1,160.000	2.00000	2,320.00	2.00000	2,320.00		
TRAFFIC	MARKING LINES, 8"	LF						
0054	610017M	110.000	6.00000	660.00	6.00000	660.00		
TRAFFIC	MARKING LINES, 24"	LF						
0055	610039M	930.000	4.00000	3,720.00	4.00000	3,720.00		
REMOVA	L OF TRAFFIC MARKI	NGS SF						
0056	612003P	229.100	50.00000	11,455.00	88.00000	20,160.80		
REGULAT SIGN	TORY AND WARNING	SF						
0057	651255M	5.000	250.00000	1,250.00	50.00000	250.00		
RESET W	ATER VALVE BOX	U						



Page 10 of 24

Contract ID: 24151 Counties: ATLANTIC

Letting Date: October 31, 2024 District(s): S1

Call Order: 151 Project(s): D00S(931)

Contract Time: 05/17/26 COMPLETION DATE Min: Max:

	o / Item ID escription		(1) SOUTH S	TATE, INC.	(2) BERTO CON			
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N: 0001	Roadway		Cat Alt	Set:	Cat A	It Member:	
0058	652432M	1.000	1,000.00000	1,000.00	1,200.00000	1,200.00		
	MANHOLE, SANITAR' USING EXISTING 3	Y U						
0059	653084M	1.000	250.00000	250.00	50.00000	50.00		
RESET (GAS VALVE BOX	U						
0060	655013P	1.000	2,500.00000	2,500.00	0.01000	0.01		
RESET T MANHO	TELECOMMUNICATION	ONS U						
0061	701021P	901.000	106.00000	95,506.00	150.00000	135,150.00		
3" RIGID	METALLIC CONDUIT	Γ LF						
0062	701102M	7.000	6,000.00000	42,000.00	4,000.00000	28,000.00		
18" X 36	JUNCTION BOX	U						



Page 11 of 24

Contract ID: 24151 Counties: ATLANTIC

Letting Date: October 31, 2024 District(s): S1

Call Order: 151 Project(s): D00S(931)

Contract Time: 05/17/26 COMPLETION DATE Min: Max:

	o / Item ID escription		(1) SOUTH S	TATE, INC.	(2) BERTO CON			
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001		Roadway		Cat Alt	Set:	Cat A	It Member:	
0063	701120M	7.000	2,000.00000	14,000.00	1,550.00000	10,850.00		
JUNCTIC COVER	ON BOX FRAME AND	U						
0064	701123M	3.000	5,000.00000	15,000.00	3,900.00000	11,700.00		
FOUNDA	TION, TYPE SFT	U						
0065	701128M	1.000	7,500.00000	7,500.00	7,000.00000	7,000.00		
FOUNDA MODIFIE	TION, TYPE P-MC D	U						
0066	701135M	13.000	4,000.00000	52,000.00	2,500.00000	32,500.00		
FOUNDA	TION, TYPE SPF	U						
0067	701136M	4.000	43,000.00000	172,000.00	16,500.00000	66,000.00		
	FOR FOUNDATION, GREATER THAN 50 RM							



Page 12 of 24

Contract ID: 24151 Counties: ATLANTIC

Letting Date: October 31, 2024 District(s): S1

Call Order: 151 Project(s): D00S(931)

Contract Time: 05/17/26 COMPLETION DATE Min: Max:

	o / Item ID escription		(1) SOUTH S		(2) BERTO CON			
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	Roadway		Cat Alt	Set:	Cat A	It Member:	
0068	701137M	60.000	800.00000	48,000.00	2,500.00000	150,000.00		
	TION, TYPE STF FOR R THAN 50 FOOT MA							
0069	701138M	6.000	10,000.00000	60,000.00	12,500.00000	75,000.00		
FOUNDA	TION, TYPE STF	U						
0070	701171M	1.000	8,000.00000	8,000.00	6,300.00000	6,300.00		
METER (CABINET, TYPE TL	U						
0071	701192P	3,117.000	1.50000	4,675.50	3.50000	10,909.50		
GROUNE	WIRE, NO. 8 AWG	LF						
0072	701201P	2,676.000	1.50000	4,014.00	3.50000	9,366.00		
MULTIPL AWG	E LIGHTING WIRE, N	O. 8 LF						



Page 13 of 24

Contract ID: 24151 Counties: ATLANTIC

Letting Date: October 31, 2024 District(s): S1

Call Order: 151 Project(s): D00S(931)

Contract Time: 05/17/26 COMPLETION DATE Min: Max:

	o / Item ID escription		(1) SOUTH S	TATE, INC.	(2) BERTO CON			
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	N : 0001	Roadway		Cat Alt	Set:	Cat A	It Member:	
0073	701213P	267.000	3.50000	934.50	5.00000	1,335.00		
SERVICE	WIRE, NO. 6 AWG	LF						
0074	702009M	1.000	45,000.00000	45,000.00	26,500.00000	26,500.00		
CONTROL	LLER, 8 PHASE	U						
0075	702012M	3.000	4,000.00000	12,000.00	4,700.00000	14,100.00		
TRAFFIC ALUMINU	SIGNAL STANDARD M	, U						
0076	702014M	4.000	25,000.00000	100,000.00	18,500.00000	74,000.00		
_	SIGNAL STANDARD R THAN 50 FOOT MA EL	-						
0077	702015M	6.000	10,000.00000	60,000.00	11,750.00000	70,500.00		
TRAFFIC STEEL	SIGNAL STANDARD	, U						



Page 14 of 24

Contract ID: 24151 Counties: ATLANTIC

Letting Date: October 31, 2024 District(s): S1

Call Order: 151 Project(s): D00S(931)

Contract Time: 05/17/26 COMPLETION DATE Min: Max:

	o / Item ID escription		(1) SOUTH S	TATE, INC.	(2) BERTO CON			
Alt Set	t / Alt Member Qua	antity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	Roadway		Cat Alt	Set:	Cat A	It Member:	
0078	702018M	8.000	1,700.00000	13,600.00	1,900.00000	15,200.00		
PEDEST	RIAN SIGNAL STANDARI	o U						
0079	702018M	5.000	1,800.00000	9,000.00	1,950.00000	9,750.00		
_	RIAN SIGNAL STANDARI R-COATED BLACK	O U						
0800	702024M	6.000	9,500.00000	57,000.00	9,400.00000	56,400.00		
TRAFFIC STEEL	SIGNAL MAST ARM,	U						
0081	702025M	4.000	38,000.00000	152,000.00	25,500.00000	102,000.00		
_	SIGNAL MAST ARM R THAN 50 FOOT, STEE	U						
0082	702027P	4,398.000	2.00000	8,796.00	3.50000	15,393.00		
TRAFFIC CONDUC	SIGNAL CABLE, 2 CTOR	LF						



Page 15 of 24

Contract ID: 24151 Counties: ATLANTIC

Letting Date: October 31, 2024 District(s): S1

Call Order: 151 Project(s): D00S(931)

Contract Time: 05/17/26 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) SOUTH STATE, INC.		(2) BERTO CONSTRUCTION, INC.			
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	Roadway		Cat Alt	t Set:	Cat A	It Member:	
0083 702030P	5,619.000	3.00000	16,857.00	4.00000	22,476.00		
TRAFFIC SIGNAL CABLE, S	5 LF						
0084 702033P	9,986.000	5.00000	49,930.00	4.40000	43,938.40		
TRAFFIC SIGNAL CABLE, CONDUCTOR	10 LF						
0085 702036M	67.000	3,500.00000	234,500.00	1,825.00000	122,275.00		
TRAFFIC SIGNAL HEAD	U						
0086 702039M	30.000	2,500.00000	75,000.00	1,450.00000	43,500.00		
PEDESTRIAN SIGNAL HEA	ND U						
0087 702042M	20.000	800.00000	16,000.00	700.00000	14,000.00		
PUSH BUTTON	U						



Page 16 of 24

Contract ID: 24151 Counties: ATLANTIC

Letting Date: October 31, 2024 District(s): S1

Call Order: 151 Project(s): D00S(931)

Contract Time: 05/17/26 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) SOUTH S	TATE, INC.	(2) BERTO CON			
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	Roadway		Cat Alt	Set:	Cat A	It Member:	
0088 702046M	14.000	15,000.00000	210,000.00	12,200.00000	170,800.00		
RADAR DETECTOR	U						
0089 702050M	5.000	9,000.00000	45,000.00	9,700.00000	48,500.00		
GENERATOR AUXILIARY C	ABINET U						
0090 702057M	(1)	50,000.00000	50,000.00	14,000.00000	14,000.00		
INTERIM TRAFFIC SIGNAL SYSTEM, LOCATION NO	LS 1						
0091 702057M	(1)	4,000.00000	4,000.00	14,000.00000	14,000.00		
INTERIM TRAFFIC SIGNAL SYSTEM, LOCATION NO	-						
0092 702057M	(1)	20,000.00000	20,000.00	9,000.00000	9,000.00		
INTERIM TRAFFIC SIGNAL SYSTEM, LOCATION NO.	-						



Page 17 of 24

Contract ID: 24151 Counties: ATLANTIC

Letting Date: October 31, 2024 District(s): S1

Call Order: 151 Project(s): D00S(931)

Contract Time: 05/17/26 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) SOUTH STATE, INC.		(2) BERTO CONSTRUCTION, INC.		
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price Ext Amount
SECTION: 0001	Roadway		Cat Alt	Set:	Cat A	It Member:
0093 702057M	(1)	50,000.00000	50,000.00	12,000.00000	12,000.00	
INTERIM TRAFFIC SIGNAL SYSTEM, LOCATION NO	LS 4					
0094 702057M	(1)	4,000.00000	4,000.00	600.00000	600.00	
INTERIM TRAFFIC SIGNAL SYSTEM, LOCATION NO	LS 5					
0095 702057M	(1)	4,000.00000	4,000.00	600.00000	600.00	
INTERIM TRAFFIC SIGNAL SYSTEM, LOCATION NO	LS _6					
0096 702060M	4.000	8,000.00000	32,000.00	11,000.00000	44,000.00	
CONTROLLER TURN-ON	U					
0097 703018M	8.000	4,000.00000	32,000.00	1,900.00000	15,200.00	
LUMINAIRE	U					



Page 18 of 24

Contract ID: 24151 Counties: ATLANTIC

Letting Date: October 31, 2024 District(s): S1

Call Order: 151 Project(s): D00S(931)

Contract Time: 05/17/26 COMPLETION DATE Min: Max:

Contract Description: ADA South, Contract 1 with ROW Cost Estimate

	Line No / Item ID Item Description		(1) SOUTH	STATE, INC.	, , ,	NSTRUCTION, IC.		
ı	Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount

Section Totals: \$3,826,841.76 \$4,436,790.78



Page 19 of 24

Contract ID: 24151 Counties: ATLANTIC

Letting Date: October 31, 2024 District(s): S1

Call Order: 151 Project(s): D00S(931)

Contract Time: 05/17/26 COMPLETION DATE Min: Max:

Contract Description: ADA South, Contract 1 with ROW Cost Estimate

•	,						
Line No / Item ID Item Description		(1) SOUTH S	TATE, INC.	(2) BERTO CON INC	,		
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0002	Construction E	ngineering	Cat Alt	Set:	Cat A	It Member:	
0007 155015M	1.000	32,000.00000	32,000.00	35,000.00000	35,000.00		
FIELD OFFICE TYPE E SET U	JP U						
0008 155033M	20.000	4,000.00000	80,000.00	3,500.00000	70,000.00		
FIELD OFFICE TYPE E MAINTENANCE	МО						

Section Totals: \$112,000.00 \$105,000.00



Page 20 of 24

Contract ID: 24151 Counties: ATLANTIC

Letting Date: October 31, 2024 District(s): S1

Call Order: 151 Project(s): D00S(931)

Contract Time: 05/17/26 COMPLETION DATE Min: Max:

Contract Description: ADA South, Contract 1 with ROW Cost Estimate

Line No / Item ID Item Description		(1) SOUTH STATE, INC.		(2) BERTO CONSTRUCTION, INC.			
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount

SECTION: 0003 (Non-Participating (Roadway Cat Alt Set: Cat Alt Member:

 0002
 152015P
 1.000
 1,000.00000
 1,000.00
 10,500.00000
 10,500.00000

 POLLUTION LIABILITY INSURANCE
 DOLL

Section Totals: \$1,000.00 \$10,500.00



Page 21 of 24

Contract ID: 24151 Counties: ATLANTIC

Letting Date: October 31, 2024 District(s): S1

Call Order: 151 Project(s): D00S(931)

Contract Time: 05/17/26 COMPLETION DATE Min: Max:

	o / Item ID escription		(1) SOUTH S	TATE, INC.	(2) BERTO COI			
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0004	Erosion Control		Cat Alt	Set:	Cat A	It Member:	
0009	158003M	400.000	4.00000	1,600.00	5.00000	2,000.00		
CAUTION	I FENCE	LF						
0010	158012M	4,000.000	4.00000	16,000.00	5.00000	20,000.00		
HEAVY D	OUTY SILT FENCE, BL	ACK LF						
0011	158015M	30.000	25.00000	750.00	30.00000	900.00		
HAYBALE	≣	U						
0012	158030M	100.000	0.02000	2.00	115.00000	11,500.00		
INLET FIL	TER TYPE 2, 2' X 4'	U						
0013	158063P	(1)	15,000.00000	15,000.00	15,000.00000	15,000.00		
CONCRE	TE WASHOUT SYST	EM LS						
0014	158072M	2.000	500.00000	1,000.00	500.00000	1,000.00		
OIL ONLY TYPE 1	Y EMERGENCY SPILI	_KIT, U						



Page 22 of 24

Contract ID: 24151 Counties: ATLANTIC

Letting Date: October 31, 2024 District(s): S1

Call Order: 151 Project(s): D00S(931)

Contract Time: 05/17/26 COMPLETION DATE Min: Max:

Contract Description: ADA South, Contract 1 with ROW Cost Estimate

Line No / Item ID Item Description		(1) SOUTH STATE, INC.		(2) BERTO CONSTRUCTION, INC.			
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0004	Erosion Control		Cat Alt	Set:	Cat A	It Member:	
0015 158084M	12.000	0.02000	0.24	0.01000	0.12		
EROSION CONTROL SEDIM REMOVAL	ENT CY						
0100 806018P	205.000	2.00000	410.00	3.00000	615.00		
FERTILIZING AND SEEDING F	i, TYPE SY						

Section Totals: \$34,762.24 \$51,015.12



Page 23 of 24

Contract ID: 24151 Counties: ATLANTIC

Letting Date: October 31, 2024 District(s): S1

Call Order: 151 Project(s): D00S(931)

Contract Time: 05/17/26 COMPLETION DATE Min: Max:

	o / Item ID escription		(1) SOUTH S	TATE, INC.	(2) BERTO COI			
Alt Set	t / Alt Member Qu	antity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0005	General Lands	cape	Cat Al	Set:	Cat A	It Member:	
0098	804000P	2,074.000	2.50000	5,185.00	3.50000	7,259.00		
TOPSOIL THICK	_ SPREADING" THICK	(4" SY						
0099	804015P	60.000	50.00000	3,000.00	66.00000	3,960.00		
BORROV	W TOPSOIL	CY						
0101	806027P	1,032.000	2.00000	2,064.00	3.00000	3,096.00		
FERTILIZ PINELAN	ZING AND SEEDING, TYI NDS	PE SY						
0102	806033P	1,042.000	2.00000	2,084.00	3.00000	3,126.00		
FERTILIZ MAINTEN	ZING AND SEEDING, LO' NANCE	W SY						
0103	808003P	25.000	75.00000	1,875.00	25.00000	625.00		
SODDIN	G	SY						

Page 24 of 24

Contract ID: 24151 Counties: ATLANTIC

Letting Date: October 31, 2024 District(s): S1

Call Order: 151 Project(s): D00S(931)

Contract Time: 05/17/26 COMPLETION DATE Min: Max:

Contract Description: ADA South, Contract 1 with ROW Cost Estimate

Line No / Item ID Item Description			(1) SOUTH STATE, INC.		(2) BERTO CONSTRUCTION, INC.		
Alt Set / Alt Mem	ber Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0005	General Lands	cape	Cat Alt	Set:	Cat A	It Member:	
0104 809003M	1,042.000	1.00000	1,042.00	2.50000	2,605.00		
STRAW MULCHING	SY SY						
0105 809006M	1,032.000	3.00000	3,096.00	2.50000	2,580.00		
FIBER MULCHING	SY						
0106 809018M	35.000	30.00000	1,050.00	22.00000	770.00		
WOOD MULCHING	SY						
Section Totals:			\$19,396.00		\$24,021.00		
	Contract Totals		\$3,994,000.00		\$4,627,326.90		
	Cost Plus Time Totals		\$3,994,000.00		\$4,627,326.90		

() indicates item is bid as Lump Sum



Vendor Ranking Page:

Call Order: 151 Contract ID: 24151 Counties: ATLANTIC

Letting Date: October 31, 2024 10:00 AM **District(s):** S1

Contract Time: 05/17/26 COMPLETION DATE

Contract Description: ADA South, Contract 1 with ROW Cost Estimate Project(s): D00S(931)

Rank	Vendor Name	Total Bid	Percent Of Low Bid
1	SOUTH STATE, INC.	\$3,994,000.00	100.00%
2	BERTO CONSTRUCTION, INC.	\$4,627,326.90	115.86%

THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.